=

- -\ Fg) - -
W Copyright FCI. L :'ﬂ) \_ \_
|1 | 2 FCIconnec‘.com | | 3] 4
PRODUCT NUMBER
B 20020071 O L F
PITCH
C: 3.50 mm POLES
D: 3.81 mm 02: 2 POLES LF : NOTED RoHS COMPATIBLE
G: 5.00 mm 03: 3 POLES
H: 5.08 mm 04: 4 POLES
: 1 : STANDARD PRODUCT
: W/ BOX PACKING
PROPERTY TABLE :
FCI SERIES NAME_ | 02-350 | 02-381 [ 02-500 | 02-508 24: 24 POLES
PITCH (mm) | _3.50 381 5.00 508
VOLTAGE RATING (VAC) 300 300 300 300 SCREW CODE
CURRENT RATING (a) |-cUlus | 8 8 12 12
- VVBI%E 10 10 NA NA CODE SCREW TYPE AVAILABILTY
= 16~28 | 16~28 | 12~24 | 12~24
APPLICABLE WIRE RANGE (AWG]
(%) owiRe] 70 % 1 18 A [ =/+] € | onRequesTonLY
oo MRE[ 15 15 25 25
A WRE CROSS SECTION 2-WRE[ 0. 0. 0 0 B - e STANDARD
— (mm?) STRANDED |LI=WIREL 1. 1. .5 5
2WRE[ 075 | 075 5 5 HOUSING CODE ALL FLANGE SCREWS ARE ONLY AVAILABLE IN +/—
OPENING CONTACT HOUSING(mm?) |  2.8x1.7 2.8x1.7_| 2.6x3.3 2.6x3.3 CODE | COLOR AVAILABILTY COMBINATION SCREW TYPES.
WRE STRIP LENGTH(mm) | _ 6~7 67 6~7 67
TORQUE +/—10% (N-m /Lb—in) | 0.19/1.7 | 0.19/1.7 | 04/35 | 0.4/35 1| GREEN(RAL 6018/T)|  STANDARD
SCREW | M2x0.4 M2x0.4 M3x0.5 M3x0.5 2 BLACK ON REQUEST ONLY
s |16 1.6 16 16
WITHSTANDING VOLTAGE (kV) st +—'2 25 NA NA 3 | GREY(RAL 7004/P) | ON REQUEST ONLY
OPERATING TEMP. ('C) [—40~+115 | —40~+115 | -40~+115 | —40~+115 4 BLUE(RAL 5015/A) | ON REQUEST ONLY
POLES AVAILABLE | 02~24 | _02~24 | 0o~24 | 02v24
swerv oAt | (BBus (B ERus
NOTES:
1. MATERIALS
1—1 HOUSING: THERMALPLASTIC RESIN, UL 94V—-0 RATED. mat’l. code surface tolerance [projection [product family
1—-2 SCREW: STEEL, ZINC PLATED. ASME Y14.5\/ ASME Y14.5 TERMINAL BLOCK
1-3 CLAMP: COPPER ALLOY, NICKEL PLATED. Ttr [ecn noldr [date [tolerances unless otherwise spedife Title
1—4 TERMINAL: COPPER ALLOY, TIN PLATED. A [Ti0-cos2| WL | 080510 | |5 %05 MM___ | TERMINAL BLOCK
2. PRODUCT SPECIFICATION REFER TO FCI GS—12-625. B [110-0140[ WL | 090310 |~ ®" 2|  X.X*0.3 INCH! PLUGGABLE PLUG, BACK SIDE HOOK,
3. PRODUCT PACKING SPECIFICATION REFER TO FCI GS—14—1394. C [T1o-0158] WL | 100410 | XET| | X.Xx£0.1 scale W/FLANGE
4. FCl, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN D [T11-0013| WL | 040811 [dr | WENDY GHEN] 051810 dwg no sheet 1 of 5|size
ON PRODUCT SURFACE. vl pson sy os110 FC' 20020011 A
5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE [chr [cARY HSiEH | 051810 \4 4
B EUROPEAN UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS lappdl JOSEPH _HsIA | 051810 type CUSTOMER Drawing
DESCRIBED IN GS—22-008. sheet revision| D[ D[D[D]D [ 1 A N N N I
index [sheet [1[2[3[4[5 [ 1 [ T T T T T T 1
| form: AtmmXLe 1] 2 I PDM: Rev:D 3 | statusReleased  Pprinted: Apr 21, 20114

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

| (Y ~ FY (N (N
- - - -
1] 2 FClconnect.com | 3
PRODUCT NUMBER SERIES NAME PITCH
20020011=CXXXXXXLF | 02-350 3.50 mm
N = Number of poles
Dim A=Nx3.50[.138]
Dim B=(N—1)x3.50[.138]
poles Dim A Dim B
2—4p | £0.10[.004]| +0.10[.004]
5-7p +0.15[.006]| +0.15[.006]
vy 8—12p | +£0.20[.008] +0.20[.008]
?ﬁ m @ @@ ﬁ 13—18p | £0.25[.010]| +0.25[.010]
.; J A FLanGe screw m2.5 19—24p| £0.30[.012]| +0.30[.012]
7/
Mo
~Ne DIM.A 4.8[.189] 10.4[.409
v T % 1 Z{/ I I
A — g
= o ©
2] o 3
3| 2 L= = <
o o =
1.7[.067] '@’
QU @
H — 5
3.5[.138] BAL
2p to 6p with wedge,above7p
4.3[.169] DIM.B without wedge(including 7p)
mat’l. code surface tolerance |projection |product family  tERMINAL BLOCK
ASME Y14.5\/ ASME Y14.5
Itr [ecn no|dr [date [tolerances unless otherwise spedifie title
D 19 X.£0.5 MM TERMINAL BLOCK
e xx*03 INCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
XET| | XXX£0.1 scale W/FLANGE
dr | WENDY CHEN | 051810 dwg no sheet 2 of 5|size|
|_ JASON HSU_| 051810
s vy e FS_:,/)' 20020011 Ae
loppd| JOSEPH _HSIA | 051810 type CUSTOMER Drawing
B sheet [revision| | T LT T T 1 I
index [sheet [ [ [ 1 I I [
1] 2 I PDM: Rev:D 3 | statusReleased  Printed: Apr 21, 20114

| form: A4mmXLc

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

| ( A Copyright FCI. ( A Fg/l (\ ( h
[ e g g
1] 2 FCIconnect.coml 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020011 =DXXXXXXLF 02-381 3.81 mm
N = Number of poles
Dim A=Nx3.81[.150]
Dim B=(N—1)x3.81[.150]
poles Dim A Dim B
FLANGE SCREW M2.5 2—6P | £0.15[.006]| +0.15[.006]
7_12p | £0.20[.008]| +0.20[.008]
— 13—17p | £0.25[.010]| +0.25[.010]
Q| AN @ @ @ @ 18—24p| +0.30[.012]| +0.30[.012]
BN
Nl
/.
5 DIM.A 4.8 [.189] 10.4 [.409]
NS
[ A S A 1 I /A I
A = 3 B
= A :
NN .
— <
—| < =y ©
28 I —J \'H_ M ?_’
” 1.7 [.067] =
©
| ! o =R
% | i3 s
3.81 [.150]
2p to Bp with wedge,above7p
4.5[.177] DIM.B without wedge(including 7p)
tl. cod T Tol jecti duct famil
math code ot vresy/| v vias |7 ohoeion [Produet TMIY ooy iNAL BLOCK
Itr [ecn no|dr [date [tolerances unless otherwise spedifie title
D o] X.£0.5 MM TERMINAL BLOCK
e xx*03 INCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
XET| | XXX£0.1 scale W/FLANGE
dr | WENDY CHEN | 051810 dwg no sheet 3 of 5|size|
|_JASON HSU | 051810
s vy e FS_:,/)' 20020011 Ae
loppd| JOSEPH HSIA | 051810 type CUSTOMER Drawing
B sheet [revision| | T L T T T T T T 1
index _[sheet [ [ [ 1 N I I I I
1] 2 I PDM: Rev:D 3 | statusReleased  Printed: Apr 21, 20114

| form: A4mmXLc

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

| () : ~  FCl () ("
- Copyright FCI Y :'ﬂ/ N ~/
1] 2 FClconnect.com 3] 4
PRODUCT NUMBER SERIES NAME PITCH
20020011—-GXXXXXXLF 02-500 5.00 mm
N = Number of poles
Dim B=(N—1)x5.00[.197]
- ( ( poles Dim A Dim B
BN IE 2—6p | £0.15[.006]| +0.15[.006]
ON = =
— @@ @\ @ @ 7—-12p | £0.20[.008]| +0.20[.008]
— ' 13—18p | £0.30[.012]| +0.30[.012]
2; 19-24p| +£0.40[.016]| +0.40[.016]
4.8
[.189] Dim A 12.6 -
2.75[.108] [.496] I_ _I
I I
2.6 ‘ ‘
A 7/ [102)
— = HOUISNG ' '
= - | |
Q,"‘E | ﬂﬁ T L N TERMINAL X — A A =
o EaRal ls € _ B COHI
m — )
il I‘Q{E j — | |
o) = I_ 2p J
4 5.8 - T -
[35%] [.328]
Dim B
E.OO
~197] mat’l. code surface tolerance [projection |product family
ASME Y14.5\/ ASME Y14.5 TERMINAL BLOCK
vaa= Itr |ecn no[dr |date |tolerances unless otherwise spegifie title
) angled g— X205 MM __ | TERMINAL BLOCK
A ~ ol xx03 INCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
@gu g@ [ XET| | xxxz0.1 scale W/FLANGE
|dr_ WENDY CHEN | 051810 dwg no sheet 4 of 5[size|
051810
|:h3r mNH:EJ-a 051810 FS//J 20020011 As
loppd| JOSEPH _HsSIA | 051810 type CUSTOMER Drawing
sheet |revision| | T L T T T T T T 1
index [sheet [ [ [ 1 [ T T T T T 1
1] 2 I PDM: Rev:D 3 | statusReleased  Printed: Apr 21, 20114

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/

| "\ FCl \
(\ D Copyright FCI. (\ ) :—y/ (\ D (\ D
1] 2 FClconnect.com 3 4
PRODUCT NUMBER | SERIES NAME PITCH
20020011-HXXXXXXLF| 02-508 5.08 mm
N = Number of poles
Dim A=Nx5.08[.200]+0.5[.020]
FLANGE SCREW M2.5 Dim B=(N—1)x5.08[.200]
// poles Dim A Dim B
OQg IE - 2—-6p +0.15[.006]| +0.15[.006]
Il C12) @]'\@ @ ﬂ 7-12p | £0.20[.008]| 0.20[.008]
— 74 13—18p | £0.30[.012]| +0.30[.012]
¥ 19—24p| £0.40[.016]| +0.40[.016]
4.8
[.189] DIM.A 12.6
[.496] I
2.79[.110] SCREW
| == | |
1L 2.6
A 1/ [{i02] = cLAMP | | A
I ] o) I e
— m\@ i 1 HOUISNG ! "Z =“ !
__ MIE= o, 1 ‘ ‘
—i |, | N TERMINAL L |
o - <2 =) B
~o 3 = IE
Re il i | |
L" = pE — I I
| 00 =
= L > |
4 5.8 - T
[73%] [.378]
DIM.B
5.08
. f tol jecti il
[.200] mat’l. code i;::a;jg \/ A;‘ e::?:: projection [product family TERMINAL BLOCK
] = Itr [ecn no|dr [date [tolerances unless otherwise spedifie title
D - T MM TERMINAL BLOCK
T I~ NI 8 X£0. INCH! 3 8
@B@ 1 B@ o i ;( ;(;ttooi I :}"ﬁﬁ%f PLUG, BACK SIDE HOOK,
E |dr_ WENDY CHEN | 051810 dwg no sheet 5 of 5[size|
engr| 051810
he [oase sk [ os1e10 FS//)' 20020011 As
lappd JOSEPH HsiA | 051810 type CUSTOVER Draving| 3
sheet [revision| | T L T T T T T T 1
index _[sheet [ [ [ 1 N I I I I
1] 2 I PDM: Rev:D 3 | statusReleased  Printed: Apr 21, 20114 I

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

